Runtime diagram
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Runtime with save solutions
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Runtime with save solutions
Boardsize 4 5 6 7 8 9 10 11 12
Runtime [s] 0,016 0,046 0,015 0,266 0,625 2,094 4,312 16,156 86,047
Solutions 2 10 4 40 92 352 724 2680 14200
Runtime without save solutions
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Boardsize [x?]
Runtime without save solutions
Boardsize 4 5 6 7 8 9 10 11 12
Runtime [s] 0,000 0,000 0,000 0,000 0,016 0,047 0,156 0,766 4,265
Solutions 2 10 4 40 92 352 724 2680 14200

The graph of the runtime can only be drawn up from a certain minimum boardsize because of the high CPU clock frequency




